
3 

5 

6 

7 

1 

2 

3 

5 

6 

O00O 

C 

Page: 1 

t 

487582 

487582 

1N30 



fol
9lol: y 0II 1à 10: 

2 

(c) f: + 349T 

(D) faT4 I 

(A) ytp 
(C) 93R 

(A) Tyq 

(A) G 

(A) faftai 

(A) 

(C) faatE 

(B) ftT + qet 
(D) f8 + 3t 

(B) T 
(D) qeR 

(B) f 
(D) 3JiHTa 

(B) fderft 

(D) rr gerT 

(B) gftT 
(D) aut 

(B) 

(D) 4 

8 

(A) ycq 

(C) faN 

(c) g 

(A) AG 

(C) T 

Page:2 

(B) gruft 
(D) 340 

(B) 3r 

(D) yol 

(B) fg 
(D) I 

4 



11. Complete the following sentence: 
The human body is like an engine. It 
required fuel 

(A) to work 

(C) to run from 

(D) to keep it on action 

If you are not watching T.V. 
(A) switch it on. 
(C) take it off. 

12 Fill in the blank by picking out the phrasal18 Choose the sentence with the right word 
verbs -

() Samaritan 

Direction: In Question nos. 13 to 14: 
Give one word for the following sentence : 

13 A hater of learning and knowledge 
(A) Masochist 

(A) Maiden 

(C) Extempore 

(3) to keep it going 

15 The greedy hanker 

14 A speech delivered without any previous 
preparation 

(A) on 

(C) after 

(B) switch it off. 

16 He felt grateful 

(D) throw it away. 

(A) for 

(C) to 

Direction: in Question nos. 15 to 16: 
Complete the following sentences by selecting 
the appropriate preposition to fill in the given 
blank: 

(B) Misologist 

(D) Misogynist 

(B) Novel 

(D) Obsolescent 

(B) round 

(D) upon 

his friend. 

(B) under 

the riches. 

(0) from 

17 Change the sentence into passive voice: 
I write a letter. 
(A) A letter is written to me. 

(B) A letter is written by me. 

(C) A letter was written by me. 

(D) A letter is written for me. 

order: 

(A) What is your favourite colour ? 

(B) What your favourite colour is ? 
(C) Is what your favourite colour ? 

(D) Your favourite colour is what ? 

19. Your brother is so rude, I don't like 

(A) himself 

(C) he 

20. Complete the sentence by selecting 'a', an', 
the'. 

the ansSwer. 

If an article is not required, mark None' as 

Have yoU got 
(A) an 

(B) his 

(C) a 

(D) him 

Page: 3 

pen ? 
(B) None 

(D) the 
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Direction: In Question nos. 21 to 25: 

Which of the answer figure will follow theffai y 0 À 1 Á JR 31aft 
|question figures in the following five H�T I 3T47 hî ? 
questions? 

21. Question Figures : 

Answer Figures 
(A) 

(C) 

2 Question Figures: 

Answer Figures : 
(A) 

(C) 

23 Question Figures : 

Answer Figures: 
(A) 

(C) 

(8) 

(D) 

(B) 

(D 

B 

A: yP HGI 21 25: 

(D) 

Tpft 

|21. 994 3Iofuí : 

(A) 

(C) 

(A) 

(c) 

(A) 

23. yeA 3IGafTA0 : 

(C) 

O 
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A 

(B) 

(D) 

(B) 

(D 

(B) 

(D) 



24. Question Figures: 

Answer Figures : 
(A) 

27 

(C) 

25 Question Figures: 

28 

X|X|X 

Answer Figures : 
(A) 

(C) 

(A) Padma Shri 

() Ashok Chakra 

from the group: 

Which is the biggest award of India? 

(A) Chair 

(9 Table 

(8) 

(A) 18 

(D) 

(C) 6 

(B 

(D) 

X 

(B) Bharat Ratna 

(D) Padma Bhusan 

(B) Mat 

(D) Sofa 

(6) 12 

(D) 9 

Direction: in Question nos. 27 to 31: 
in the givern five questions find out the odd onefefa g yEd À 

? 

(A) 

27. 

(C) 

28. 

JR 34Ipfiaí : 
(A) 

(C) 

M: YA HGAT 27 

(C) 39 sF 

X 

(A) i 
(C) 

(A) 18 

(C) 6 
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(B) 

(D) 

(B) 

(D 

(B) HIi 

(B) 

31: 
H H48 

(D) 5I 

(B) 12 

(D) 9 

487582 



29 

30. 

31. 

(A) AI 

(C) I0 

(A) WXYZ 

(C) RQPS 

(A) Crime: Punishment 

'NGLI, 
language 

(B) Punishment : Advocacy 

(A) GPML 

(C) Courage: Success (D) Exercise : Health 

Direction: In Question nos. 32 to 36: 

() MIGP 

(B) EI 

(D) AE 

() None 

(B) BCDE 

(D) STUV 

then 1RON' is written in same 

() 185131615 

(A) 451459 

(C) 352459 

(B) PGLM 

(D) GPLM 

(B) BAG 

(D) EYE 

(B) 186131614 

35. If RHYM =9874, then LEADER =? 

(D) 195141613 

29 

2 In the code language PINK' is written as 32. yf fo ofta 4GT À PINK 

30 

(B) 351459 

31. 

(D) 351469 

(A) AI 

(C) IO 

(A) WXYZ 

(c) RQPS 

(A) 3Tt:ug 

33. If in a code language YZW is BAD, then the33. 0ofch HTT yf YZW BAD I 
code of ZXY would be 
(A) AGE 

IRON' hT 
(A) GPML 
(C) MIGP 

(C) HISH : HhdI (D) hHYT:GIr 

(A) AGE 

McyT: 9T HEI 32 36: 

34 In a code language "INVITE" is written34. (0 hcHI H "INVITE" T 914229205 
914229205 and "FORT" is written 6151820, 

6151820 then "REMPO" is written in the same gÌ 4TGI "REMPO" 
language would be 
(A) 185141713 

(B) EI 

(D) AE 

(B) BCDE 
(D) STUV 

foiaI 
(A) 185141713 

(B) Ug 

(C) 185131615 

(C) À S 1s0 (D) EYE 

(A) 451459 

(c) 352459 
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fTRAI GI ? 
(B) PGLM 
(D) GPLM 

fetgT |lI 3N "FORT" 
fI GII, 

(B) BAG 

? 
(B) 186131614 

35. yI RHYM = 9874, T LEADER = ? 

(D) 195141613 

(B) 351459 

(D) 351469 



36. If LUNAR = 66, then JOLT will be 
(A) 47 

(C) 57 

(A) 5 

39 

(c) 6 

40 

37. The number of rights provided to Indian 37. HIRÁs Ro a y HA sor0 d 
people. 

(A) Wednesday 

(9 Sunday 

mark? 

38. If 1st January, 2008 is Tuesday, then what 38. f 1 . 
day of the week lies on 1st January, 2009? 

Direction: In Question nos. 39 to 40: 
Which no./letter will come in place of question 

21 

(A) 20 

(C) 11 

(A) F 

(C) N 

10 

D 

3 

F 

(B) 67 

(D) 96 

30 

41. Full name of Internet 
(A) Essential mail 

(B) 8 

(D) 7 

(C) Inter-com network 

(B) Thursday 

(D) None of these 

(D) Monday 

(B) 7 

(D) 17 

(B) International network 

36. yfG LUNAR = 66 , di JOLT I BTI 

(B) G 

(D) L 

(A) 47 

39 

(C) 57 

40 

41. 

(A) 5 

(C) 6 

(A) qdR 
(c) gfaqrR 

M: YT HI 39 
YIT y fe 

21 

(A) 20 

(C) 11 

J 

(A) F 
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(C) N 

10 

D 

3 

(B) 67 

(D) 96 

qr. 
1 yjat, 2009 t HG3 T 

30 

(B) 8 

(D) 7 

2008 

(8) g8ufar 
(D) HAIR 

40: 
M Ì HT/3AR 

(B) 7 

(D) 17 

(D) 

(B) G 

L 

487582 



Direction: In Question nos. 42 to 46: 

42. Bible: Christian :: Quran:? 

In the following five questions, there is definite|t f¢y y0T 9I À fg .. 

relation among the two sets of letters/words|3R0/ZIGI D qt fy u R 

of the left side of symbol :, complete the righttit yoTR HafT . 

side of this symbol by picking the right answer|3N Ì JTR foi À H 

(A) Islam 

(C) Sikh 

43. ACE:FHJ:: KMO:? 
(A) TRP 

(C) PRT 

44. 400:20 :: 484:? 
(A) 21 

(C) 23 

(A) JHK 

() HIKJ 

(A) Odisha 

(9 Haryana 

45 MNOP: PQRS:: EFGH:? 

(B) Jain 

Budhha"? 

(D) Hindu 

(A) Mahesh 

(B) PTR 

() Siddhartha 

(D) PQT 

(B) 22 

46. Lucknow: Uttar Pradesh:: Patna:? 

(D) 20 

(B) HIJK 

(D) HJIK 

(B) Bihar 

(D) Madhya Pradesh 

AIT: A HEN 42 

(B) Brijesh 
(D) Gautam 

42. 

(A) StoIH 

(C) ME 

46. 

(C) PRT 

44. 400: 20 484 : ? 

(A) 21 

43. ACE: FHJ : : KMO:? 
(A) TRP 

(C) 23 

47. What was the childhood name of "Gautam 47. TGH GG ol 
(A) 4àT 

(c) HIK 

(A) 3fsTT 

46: 

(B) 

(c) affuTUI 

45. MNOP : PORS :: EFGH : ? 
(A) IJHK (B) HIJK 
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(D) fr 

(B) PTR 

(D) PQT 

(B) 22 

(D) 20 

: JR YCT:: ycT:? 

(D) HIIK 

(B) fAIR 
(D) H. y¢I 

tpÊ H RÊT 21 ? 
(B) aT 
(D) TòGH 

from the options : 



Direction: In Question nos. 48 to 51: 
In the following questions, at the basis of any 
method there are some equation are solved. 

Use the same equation for finding answer: 

48. 7 * 3 * 2 = 42 

6*4 *3=72 
5*5* 4 = 100 
4*6*5=? 

(A) 44 

(C) 120 

49. 4 * 6=72 

81 *5= 225 
9*?=147 

(A) 7 

(c) 8 

50 4* 8 *5 =596 

7*3*8= 849 
6*5*2 =763 
3 *1*4 =? 
(A) 425 

() 542 

51. 9*7= 32 
13 *7= 120 
17 *9= 208 
19 * 11 =? 

(A) 160 

(C) 240 

Kisan" ? 

(B) Jawaharlal Nehru 

(B) 114 

(D) 25 

(D) Indira Gandhi 

(8) 43 

(C) Lal Bahadur Shastri 

(D) 29 

(B) 531 

(D) 524 

(B) 64 

(D) 210 

(A) Chaudhary Charan Singh 

M:yT HR 48 51: 

48. 7 * 3 * 2 = 42 

6* 4 * 3 = 72 

5* 5 * 4 = 100 

4 * 6 * 5 = ? 

(C) 120 

49. 4 * 6 = 72 

81* 5 = 225 

9*? = 147 

(A) 7 

(C) 8 

50. 4 * 8 *5 = 596 
7*3 * 8 = 849 

6*5 * 2 = 763 
3 1 * 4 = ? 

(A) 425 

(C) 542 

51. 9 * 7 = 32 
13* 7 = 120 

17 * 9 = 208 

19* 11 = ? 

(A) 160 

(c) 240 

52 Who gave the slogan of "Jai Jawan, Jai 52. gY yqT, y for 1 IRI fot 
fI ? 
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(B) 114 

(D) 25 

(B) 43 

(D) 29 

(B) 531 

(D) 524 

(B) 64 

(D) 210 

487582 
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Direction: In Question nos. 53 to S5: 

Select the word which can be made using thef¢y 1y �t4c \I 4 # GH l 

letters of the given word. 

53. CARPENTER 

(A) CARPET 

(C) PAINTER 

$4 NEWSPAPER 

(A) SWEET 

() REPEAT 

55 EXAMINATION 

(A) EXAMINER 

(C) ANIMATION 

(C) None of these 

(B) REPENT 

(D) NECTAR 

(8) SOUR 

right and walks 9 m. Again he turns to his 

(D) WASP 

left and walks 6 m. At what distance is he 

(B) NATIONAL 

now from his original point ? 
(A) 21 m 

(C) June 1946 

(D) ANIMAL 

58. The capital of Nepal 
(A) Thimpu 

57 What is full form of PIN? 
(A) Post Index Number 

(C) Maníla 

(B) 18 m 

(8) Postal Index Number 

(D) 15 m 

() Pre-index Number (D) None 

5E When did "Constituent Assembly" formed ? 
(A) April 1946 

s¬ Shyam walks 6 m. towards East, then turns56. gUTH yrG $ 30R d 9R� fu 

(B) May 1946 

(D) July 1946 

M: HT HÊT 53 55: 

(8) Kathmandu 

(D) Dhaka 

63. CARPENTER 
(A) CARPET 

(c) PAINTER 

54. NEWSPAPER 
(A) SWEET 

(C) REPEAT 

55. EXAMINATION 

58. 

(A) EXAMINER 

(C) ANIMATION 

(A) 21 er 

(A) 3À 1946 
(C) 

(8) REPENT 

(D) NECTAR 

1946 

(C) 4iaI 
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(B) SOUR 

(D) WASP 

57. PIN I yot by I ? 

(B) NATIONAL 
(D) ANIMAL 

(B) 18 er 

(B) H 1946 
(D) gelk 1946 

(B) GH|Ug 
(D) pl 



60 Which number among the following is a 60. 
term of the given series? 

|In 

Series: 3, 6, 18, 72, (?) 
(A) 288 

(C) 216 

Direction: In Question nos. 61 to 63: 
the following 3 questions 

words/orders are given in random manner. 
Arrange them in meaningful order : 

(c) 4, 1, 3, 2 

61. 1. Curd 2. Butter 3. Milk 4. Cow 

(A) 4, 3, 1, 2 (8) 4, 3, 2, 1 

62. 1. Rainbow 2. Rain 
(A) 2, 3, 1, 5, 4 

(C) 4, 2, 3, 5, 1 

(A) 1, 3, 2, 4, 5 

() 5, 1, 2, 4, 3 

(B) 144 

(D) 360 

(A) 21 years 

63. 1. Key 2. Door 3. Lock 4. Room5. Switch on 
(B) 4, 2, 1, 5, 3 

(C) 30 years 

(D) 1, 3,2, 4 

3. Sun 4. Happy 5. Child 
(B) 2, 1, 4, 3, 5 
(D) 1, 3, 5, 2, 4 

(C) 0 

(D) 1, 2, 3, 5, 4 

(B) 35 years 

(D) 25 years 

Direction: In Question nos. 65 to 66: 

Find the odd one in the series: 

65. Series : 8, 14, 26, 48, 98, 194, 386 

(A) 14 (B) 98 

(C) 48 (D) 194 

66. 0, 1, 3, 6, 10, 15, 21, 28, 37, 45 

(A) 10 (B) 37 

(D) 45 

uft: 3, 6, 18, 72, (?) 
(A) 288 

(C) 216 

65 

MRIT: y HET 61 63: 

61. 1. G0 2. HROT 3. Gy 4. Y 
(A) 4. 3, 1, 2 

(C) 4, 1, 3, 2 

62. 1. "g 2. qt 
(A) 2, 3, 1, 5, 4 

(C) 4, 2, 3, 5, 1 

64. What is the minimum age to be Prime 64. HRd I YET-4 q y H 

Minister of India? 

(A) 1, 3, 2, 4, 5 

(C) 5, 1, 2, 4, 3 

(A) 21 q 

(B) 144 

63. 1. d 2. a|vl 3. lT 

(c) 30 qy 

(D) 360 

(C) 48 

(B) 4. 3, 2, 1 

(D) 1, 3, 2, 4 

(C) o 

3. H 4. qT 5. qal 
(B) 2, 1, 4, 3, 5 

(D) 1, 3, 5, 2, 4 

4. hHRI 5. 
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(B) 4, 2, 1, 5, 3 

(D) 1, 2, 3, 5, 4 

|: 9T HGI 65 66: 

(B) 35 q 

ut : 8, 14, 26, 48, 98, 194, 386 
(A) 14 (B) 98 

(D) 194 

(D) 25 qe 

66. 0, 1, 3, 6, 10, 15, 21, 28, 37, 45 
(A) 10 (B) 37 

(D) 45 

4876M 



67. "World Population Day" is celebrated on 
(8) 27th August (A) 11th july 

(c) 27th July 

68. Gulbadan Begum was daughter of -
(A) Aurangzeb 

(C) Babar 

(A) Rajgeer 

() Patliputra 

69. Where did Mahaveer born ? 

(B) Ramnath Kovind 

(C) Pranab Mukherjee 
(D) Mrs. Pratibha Patil 

70 Who is present President of India ? 
(A) Dr. Rajendra Prasad 

(A) Last food 

(D) 21St july 

(C) Jesus ki Sooli 

(B) Humayun 

(D) Shahjahan 

71. "Good Friday" is related to -

(A) Arun 

(C) Vikram 

(8) Pawapuri 

(D) Vaishali 

(A) fahrenheit 

() celsius 

less than Vikram. Who ran fastest to all ? 

(B) Birth of Jesus 

(D) Rebirth of Jesus 

(B) Chandar 

73. What is the Sl unit of heat ? 

(D) Dinesh 

67. 

(B) joule 
(D) watt 

68. 

69. 

? 

(4) 11 yjcI^ 
() 27 yI 

(A) 3gTyg 
(c) 

(A) Zftr 

72 Arun runs faster than Alias but less than 72. 35U1, yfoH sdI fi f Dinesh. Dinesh ran faster than Chandar but 

(C) 

(A) 3if H 

(A) 3Uj 

(c) fagsH 

73. BOH| | SI HZG 
(A) RMEIgE 
(c) fuH 

(B) 27 4T*i 
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(D) 21 IS 

(B) ZHr 
(D) 2gE0 

(B) qaig 
(D) if 

(D) I yiu 

(B) R 

(D) f 

: 
(B) 

(D) qic 

487: 



74. The components of Atom Nucleus -
(A) Electron and Proton 

(B) Electron and Neutron 

(C) Proton and Neutron 

(D) Proton, Neutron, Electron 

75. The valley of flower is in -

(A) Kerala 

(B) Jammu and Kashmir 

(C) Uttarakhand 

76. If ST-OP =8 then SP - OT =? 

(A) 3 

() 0 

(A) 2nd October 2014 

(D) Himachal Pradesh 

(B) 11th September 2014 

() 5th October 2014 

celebrated ? 

(B) 2 

(D) 5th September 2014 

(A) 4th June 

(D) 11 

(C) gth March 

7. When did "Swachchh Bharat Mission"7. "S YIRA fAYT" 
begin? 

Series: U, O, I, ?, A 
(A) S 

(C) C 

(B) 5th June 

(D) 14th September 

74. 

75. 

(8) G 

(A) 

(D) E 

(C) dtRIUG 

78. When does "World Environment Day"78. "fagg qutaru a pq 44I GII ? 

76. y ST - OP = 8 SP - OT = ? 
(A) 3 

(C) o 

(A) 2 3car 2014 
(C) 5 3eR 2014 

(A) 4 S1 
() 8 H 

79 Find the missing term of the series from the79. ui G y¢ oi fy r aooyi À A 
given options : 

suf: U, 0. I, ?, A 

(D) fHTa y¢NI 

(A) S 

(C) C 

(B) 2 

Page: 13 

(D) 11 

yI0 HA ? 
(B) 1 fHqR 2014 
(D) 5 fER 2014 

(B) 5 
(D) 14 fR 

(B) G 
(p) E 



80 Which disease is caused by virus ? 
(A) Measles 
(C) Smallpox 

(A) 6245 

(C) 7346 

81 If in code language 'A' is written as 2, '8' is 3, 81 qf fhl 
then in same code "FACE" is written 

(A) Anaemia 

(C) Rickets 

(A) ababa 

(C) babaa 

83 Find out the right option : 
a_c_bca_c_ bc_ bc 

(B) All of these 

(D) AIDS 

(A) Ccaa 

(C) abac 

(B) 6357 

(D) 7246 

82 Which disease is caused by deficiency of 82 34|TsT t Ft # H d â 
iodine ? 

(A) Femur 

(8) Beri-beri 

(D) Goitre 

8< Find out the right option: 
abca _bcaab_ca_bbc_b 

(C) Tibia 

(B) bbaab 

(D) babab 

(B) bbaa 

85 The longest bone of body is -

(D) abba 

(A) 4IRT 

(B) Radius 

(c) d4h 

(D) Uina 

B 

(A) 6245 

(C) 7346 

(A) TdTEitujct 

(c) yas 

a_c bca 
(A) ababa 

(C) babaa 

(A) Ccaa 

(c) abac 

eYT 4 A' hÌ 2 tI GIaI 
3, Ì $0 4R "FACE" 

(A) HR 

(D) gI 

(c) fayI 
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(B) 6357 

(D) 7246 

abca_bcaab ca bbc b 

(B) a-t 
(D) har 

C bc 
(B) bbaab 

bc 

(D) babab 

(B) bbaa 

(D) abba 

(B) fH 
(D) HI 



Direction: In Question nos. 86 to 89: 

n the following questions, three objects name 

is given, they may be inter-related or not. Each 

sroup of objects, matches with the diagram A, À Hbil fb 3IqH 
BCand D. Study the diagram and answer the 
questions: 

86 Hindu, Scholar and Muslim : 

(A) 

(c) 

(A) 

87. Nurse, Doctor and Human being: 

(C) 

(A) 

(C) 

83. Rail, Bus and Taxi : 

88. Animal, Mada and Cow: 

(A) 

(B) 

(C) 

(D) 

(C) 1760 

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

90. When did third battle of Panipat held ? 
(A) 1763 (B) 1762 

M: y jGI 86 89: 

(D) 1761 

86 

90. 

(A) 

(c) 

(A) 

(C) 

(A) 

(c) 

(A) 

(c) 

(A) 1763 . À 
(C) 1760 . 
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aÌ | qq3Ì I 9o Hã foi1 

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

(B) 1762. À 

H 

(D) 1761 . 

487582 



91 "Panchayati Raj" began -
(A) in 1979 

() In 1952 

(A) Cow 
92 Indian National animal is 

(C) Deer 

(B) Lala Lajpat Rai 

(C) Swami Dayanand 

83 Who is calied "Punjab Kesari"? 
(A) Sardar Vallabhbhai Patel 

(C) 1904 

(D) Subhash Chandra Bose 

() Chess 

Which is not leap year from the following ? 
(A) 1896 (B) 1900 

(C) Agra 

(8) In 1959 

97 ifA means + 

(D) In 1947 

5 Saina Nehwal is related to which game ? 
(A) Badminton 

B means 

Cmeans x 

(8) Elephant 

D means + 

(D) Tiger 

* in which city Shahjahan built Moti-Masjid ? 
(A) Fatehpur Sikri 

(10C4)A(4C4)B6 
(A) 46 

(C) 60 

(D) 1980 

(B) Boxing 

(D) Tennis 

then what will be find after solving series ? 

(B) Jaipur 

(D) Delhi 

(B) 50 

(D) 56 

94. 

(A) 1979 

(C) 1952 4 

(A) T| 

() fRu 

(B) IdI dl4T 

(A) 1896 

(C) 1904 

(A) sAT 
(C) yIAÝi 

(C) 341-TNI 

B I 32 

D I 3e a0 

(10C4)A(4C4)B6 
(A) 46 

(C) 60 
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(B) 1959 H 

(D) 1947 H 

(B) z 
(D) aT 

(B) 1900 

(D) 1980 

(B) ifiT 

(D) 

(B) 
(D) 

(B) 50 

(D) 56 

y 
f 



98 The biggest desert of the world is -

(A) Thar 

(C) Gobi 

(A) 154 

9. 1, 4, 2, 8, 6, 24, 22, 88, (?) 
Complete the series. 

(C) 86 

100. Kautilya wrote 
(A) Atharvaved 

(B) Sahara 

() Arthshastra 

(D) Kalahari 

(B) 352 

(D) 90 

(B) Ramayana 

(D) Manusmiriti 

(A) eR 

100. 

(c) T 

99. 1, 4, 2, 8, 6, 24, 22, 88, (?) 

(A) 154 

(c) 86 

(A) 31gddg 
() jya 

(B) HTRT 

Page: 17 

(D) lIgCT 

(B) 352 

(D) 90 

(B) THZU 

(D) 4yfa 

487582 
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